SA-1 9/2015
fawa - w

g & VI

T : By qorig: 80
fdam: () SIRTT AR TAR: TEL: Al |

gl

(i) FRETE - TEART 99% FETIAT TRYRABE AT |
(i) ¥ GUE HAFE T THRAT WA FAT AN |
(iv) F999F FTALRT T AGHAT |
(v) TITHEAT FFIIEAGAR. AT TG |
(vi) I T FAAMT FFAT TN |
vz ‘F (SuRa—sEaET) T 10
ST RS U TE Id: S | I SoHd: HRHTEE SHIEEEl St | %
mwwww:mﬁaﬁmma%mwlﬁwz
Ty T e, T e T e 7 arat | e e 9y
Emmﬁgmﬁgamnwﬁnmmﬂ%wzamﬁmmzmmﬁmﬁw:
aﬁwlmmmwmlmzmmwm
A |
FT: :
I THIeHA SO - (ex4=2)
(@) T S ER gEaEr ?
(M) S ST BT TSI i ?
(i) T RGN Th: HEH Sd: AR ?
(iv) SIS A SRR H WAl ?
. gofareRs Ied - (2x2=4)
@) @ T o wieasy S gt ?
(i) R TS ST FT: gATad (e ?
NI e SURd - (Vox4=2)
0 ‘gt Prames sgue e
i) R I Rdmee faern foga?
(i) ‘TR I IAw: TedT: fasiee fr e
(v) T oTeT R TaeEy o WgE?
V. ST&r TEigRd i ored St ford | (2)

(A-1)



q2.

93.

ave: ‘W (s F) HF1: 15
fiyr wfer fofire of oot weel: W& e SRR O e - (Vx10=5)
s Sl
BTETETEA:, TOEE, TOEr:, &, i

e R
ferg:
firr (2) !
T AHEAT: |
3= AT (3) | S8 T T W | S (4) T | 3T
FEAIY-(5) TIET: ST | SEAT U OReT (6| WA AT
(7 3T | Sl aq 3 (8) wa e aed | §9 e |
firg=omT: (9) faeHtan |
(10) LEG |
T
Friferst grga Wouudl JareraT FETT Yoeithadrai fored - (2x5=10)
REo el

WTE:FTe, SIS, T, T, aTEe:, A, Bed:, T, a9

(A-2)



94.

as.

T6.

a8.

99,

o3 v (SR
) qoifgamd e qeEd -
) A - e A+ 4] 4+ S
i e b Gl B + 7 + 9
(@) aui Fdvg e -
() SI+E+EE+T{+GT+EE+G§:=
(1) zﬁ+ar+q+ai’r+ﬁ+a+q=
geiayn] I -
(M) W_____ﬁ'mﬁﬂ:#ﬂﬁ(l

I R (nferehT)

(1) =T _ geA AT =T wafer | (W)

(1i0) AT A MO 7 (G-I faufaT:, UehddT)
(tv) i e | e (Fem=cifest-Trend! FrafeRT:, UHaTT)
GﬁﬁﬁﬂﬁﬁaiﬁﬁﬁFMWﬁ#‘ﬁﬁﬁﬁlﬂﬁﬁfgﬁzﬁﬂﬁﬂ-

@ AT | (%)

@ oemweg_ (T

iy d fery | ()

(v) ooq owed ! (&3)

() e O

(i) o FF TR

(1) A A Gl |

e —

(A-3)

Ha&: 25
(1x2=2)

(1x2=2)

(1x3=3)

(1x4=4)

{l}{4=4)

(1x4=4)

{1x3=3)



AT HEpauTal FaE Hoe - (1x3=3)

710.
() 9% % G e
() =92 o e ¥ .
() % &« Framea J e
T ‘T (TRa-EET) FHar: 30
g1l. Srelifeifias Trensi 9fdar weawsaHi o foEd - (5)

q12.

T13.

US: YRS o oM Y4 ArTfN ) 99 Ry Slef) $9 9 A awter
AT | A BT FrgheT IS | AR AR T AR ATHRE =i~ | 588 58
AT dAIgENe Waredi= | QU ISl Yhdld Ud | @Eder A dde g oS
Wi Sy el draf |
I UFHTeT SO - (1x2=2)
(1) T i TR w7
(if) @ TR T HIEA?
I qofares Jued - (1x2=2)
()  Fo=Tertae: 3 T =i
(i) wed wed oeEn: % gaeaft=e
n.  gefaEeny IEvd - (Vex2=1)
() T AT amTEst ¢ o st e wgue ey et
() “U§T shier Al gedl: fasievme Sy Sk .
sryifofigd Jenist afden gexusaEM SEaiT frad - (5)
fUaf<r qe Sid qaad, SEaEE 59 99 981 |
wggf Ig: ured 9, T f3eey def gan o

I uyed S - (1x2=2)

W & T g e
(i) e T o ey

I Yo Said - (1x2=2)

T Faaw o fEfe
. TRy SO - (Vax2=1)
M g s vear R B sk
() Freaey s ] vafave o wga? _
et sttt RS SRS SR e - (5)
THEUL - QA &% 7 SR | T S e gerd fasiveadser gdd | s
ey 1 |

(A-4)



q14.

q15.

T16.

BT - 12 Ty T A | T WA, O 6 YT Srard, e T Qrii |
= - mmnﬁaﬁiﬁrﬁﬁmﬁﬁﬁimﬁmaﬁmwrwﬁl

T - o 9d T e F: | o e | S A e S
I O@ded 9uid - (1x2=2)

() TR dreuf SR I i :

() & 2gH T el
. o SO - _ (1x2=2)

() & HET STHEw e T g ?

(i) T T [ e
m. erfeder SO - (Yex2=1)

O ‘ad wrard P se T e ST )

() ‘oriier fermfer srl: o frdmerer R AR . i
SeE-ei S S e Seyfnal T fe - (1x4=4)
Rprareager @9 g JEa: | '

e fud & e et SR o

3r=g: - |9 (1) e (2 leeq iR @) g,
T T (4) 1 '

Ty YaiPRaTa iy Sgrm ed - (1x4=4)

() gem o Tl |

() e S FREeY dHdH: AR |

(i) ST FOT AR

(v) e afse: g SR |

areiiferfadamentT TemAEEReT O T - (YoxB=4)
(1) SPTered g@ Faar A 2 )

(2) S ST g T T |

(3) gTE: g (A S ST | .

(4) TERRET] 9 g A e e

(6) STHGHAEIA el 3R, A |

(6) S: 9% &I 7 S|

(7) T TES e L S

8) =T wae W i e FE s

(A-5)



q17. aifi: W g Ao FE O STgRadar e - (14x6=3)
: ‘-ﬂ-qf:

F=als

g TEIHTELTTRY
L AETT:
BIRIEEY gy

IF i

¢ Sfag
TTeR: ool

(A-6)



SA-1 (CLASS-VI) /2818
SUBJECT : COMPUTER SCIENCE

Time : 2 hrs MM : 50

Q1. Choose the correct answer and write it in the answer
sheet: (Bx1=86)

(1)

(1)

(iii)

(iv)

(v)

(vi)

Function key used to go to a specific cell in
Excel-

(a) F2 (b) F4
(c) F3 (d) F5
Ctrl+V key combination is used for -
(@) Undo (b) Redo
(c) Paste (d) Cut

To enter the digits as text in Excel, we have to
begin the entry with -

(a) Question mark (b) Apostrophe
(c) Exclamation (d) Dollar

A program written in the assembly language is
called-

(a) Source Program (b) Object Program
(¢) Assembler (d) Compiler

The term software was first used by -

(a) John McCarthy (b)) JohnW. Tukey
(c) John Von Neumann (d) John Marshal

The box used to connect one part of flowchart
to another -

(a) Connectors (b) Flow lines
(c) Start/Stop (d) Decision

(BR

‘1
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Q2. Give one word answer for the following statements :

Q3.

Q4.

(i)
(i1)
(i)
(iv)
)

(vi)

(vii)

(6x1=8)
The mode to which Excel returns once we finish
editing within a cell.

The key used to select a range or adjacent cells
in Excel.

Name the group in which Copy, Cut, Paste
buttons are available,

Key used to edit the cell contents in Excel.
Name the first interactive computer game.

The computer language that was designed for
business USETs. :

A set of sequential steps that are developed in
solving any problem. '

(viil) The first computer language for writing artificial

intelligence programs.

Differentiate between : (4x3=12)

@
(i)
(i)

(iv)

Undo/Redo

Copying/Moving data
Interpreter/Compiler
Assembly/Machine Language

Answer the following questions: (3x2=6)

(a)

(b)
(c)

Write the steps to insert multiple columns in a
worksheet.

Define flowchart.

Write the use of processing box and decision
box in a flowchart.

(2)



Q5. Answer the following :

Q6.

Q7.

(a)
_(b]
(c)

(d)

Write three features of High Level Languages.
(3)
Write the algorithm to find sum and average of-
three numbers, e : (3)
List three important characteristics of Fourth
generation languages (4GL). (3)
What is ‘Autofill'? How can it be applied? (4)

Draw symbols for - (3)

(a)
(c)
(a)

(b)

Start/Stop box (b) Inmput/Output box
Decision box

Raman is an expert in computer languages. He
wants to design a software. Name any one high
level language that he can use for this. (1)

Sanjana wants to maintain the records of the

books purchased in different months. She warnts = |

to enter month names automatically in the

worksheet. Which MS-Excel feature will she use? -

(1)

(3)



SA-1 (CLASS-VI) 9/2015
SUBJECT : SOCIAL SCIENCE

Time ; 3 hrs MM : 80
General Instructions :
i)  Read all the questions carefully and number the

ii)
iii) .
iv)
v
vii)
viii)

Ql.

answers according to the questions.

Multiple choice question is to be answered in the
answer sheet only.

Write all the answers in neat and legible handwriting.
Attempt all the questions.

Write complete sentences for question numbers 2 émd |
3.

Attach the maps properly to main sheet.

Questions carrying 3 marks should be answered within
60-80 words. _
Questions carrijing 5 marks should be answered within
80-100 words.

Each question has four options out of which only one Is
correct. Choose the correct option and write it in the answer

sheet. (6x1=6)
()  The famous Neolithic site ‘found in Turkey was

(@) Mehrgarh (b) Burzahom

(¢) Catal Huyuk (d) Chirand

(i) Old Stone Age Is alsoknownas
(@) Neolithic Period
() Palaeolithic Period
(¢} Chalcolithic Period - 7
{d) Mesolithic Period

(1



Q2.

Q3.

(it) India's National Anthem was composed by
(a) Mahatma Gandhi
(b) Rabindranth Tagore
(c) Bankim Chandra Chatterjee
@ BR Ambedkar _
(ivy When we fix people into one miage, we create a

{a) Stereotype (b) - Prejudice
(c) Discriminadon  (d) Inequality j
(v Indiais located in the ’ __hemisphere.

(a) North Eastern (b) Western
() South Eastern (d) None of the above

(vi) The direct rays of the sun fall on the equator on

(@ 21March (b 2ldune
0 22 Decerriber ; (d) 21 November

Correct the incorrect statements : (6x1=6)

{a) Milcroliths were small triangular tools used in
Neolithic period

(b) Burial Sites were the places where sacriflcc:s were
performed. :

"(¢) The phrase ‘Unity in Diversity’ was coined by Dr.

B.R. Ambedkar.

(d) American women got the right to vote in 1928.

() A drawing mainly based on memory and spot b

observation is called a plan
(i Christmasis celebrated in summer in Africa.

Answer the following q_uestlons in one sentence each:
ST (Bx1=8)

(a Which evidences suggest that people in Palaeolitm::,, o

period were familiar with the use of fire? °
(2)



Q4.
- g5,
6.
Q7.
08.
Q9.

Q10,
Q11.
Q12.
Q1l1s.

(b)  List any two ways in which hunter gatherers used

fire.
(¢) Where is Mehrgarh located?

(d)  State any two essential features of a democratic

government.
(e) Who are Daliis?
()  Define circle of lllumination.
(@ Draw conventional symbol for :
()  Metalled Road
(i) International Boundary
(h) Give the full form of GMT. _
Describe the ways in which you think the lives of kings

would have been different from those of farmes. 3
Discuss the major changes that took place during Mesolithic
period. . _ o (3)
Mention any three reasons for the decline of the Harappan
Civilization. (3]
‘India is a country of many diversities’. Briefly explain
the factors which lead to diversity. 3)
Write a short note on the characteristic features of .
Monarchy. (3)
‘Government ensures the smooth functioning of a country’.
List any three functions of a government. (3)
Differentiate between rotation and revolution. (3)
Explain the three heat zones of the earth. (3)
‘A leap is a year with 366 days’. Give reasons. (3)

Who were hunter-gatherers? Why did they move from
one place to another? (2+3=5)

(3)



Q14.

Q15.

Q1l6.

Ql17.

- Qls.

‘The Harappan Civilization was the first civilization to
come up in India’. Describe briefly their town planr’ g
and drainage system. 5)
‘Kerala and Ladakh experience diversity in different ways’.
List any five differences between these two places. (5)

(a)
(b)
(a)

(b)

How are ‘Meridians of longitude’ important?
Why do we have standard time? (2+3=5)

‘Maps play an important role in studying a place.
Name and explain any two types of maps.

Describe the components of a map. (243=b)

Attempt the following maps :

(@)

(b)

" (i)  Thelongest latitude..

On the provided politlcal map of India, name and
mark the following : - (1x4=4)

(i) A Habitation Site

() Place where Semi-precious stones were found

during Harappan Civilization
(iii) - An early city where Great Bath was found. ..
(iv) A Neolithic site in Jammu and Kashmir.

On the provided political map of the World, name
and mark the following : (1x4=4)

(i) Largest ocean of the world :
(i) Mountain range in North America

(iv) Smallest Continent

(4)



: SA-1 (CLASS-VI) 9/2015

' 'SUBJECT | INTEGRATED SCIENCE

. Time : 2%z hours _ : MM : 80
. General Instructions :
(i)  All questions are compulsory.

‘(i) © Mention correct question nurﬁber and part for each

answer,

(iii) Attempt the questions in the same sequencs as given
~ in question paper.

. PART-A

Ql. Answer the following in one sentence each (1x15=15)

(@)

.
o
(d)

(e)

()

A survey found that people living in the mountains
have swollen glands in their neck. Which mineral
would be missj.ng in their diet?

laman mdzgestible fibrous material present in food.
What am 1?

Complete the given analogy :
Butter : fats :: Pulses :
Define unit.

The captain of a football Leam is measu.ring the height
of his team members. The measurement of one player
is written as 1.9. Which unit of measurement should

" be used to complete the measurement?

Both the seeds and leaves of this plant are edible.
Name the plant.

Given below is a diagram of an clcctric cell. Copy
the diagram and label the parts (% and (y).

_._"?.)
-+

(1)



(h)

()

)

Q2.

. ()

_[e]l :

spinning of yarn on jarge scale is done with spinning
machine while the manual spinning is doné ¥ ‘th
hand operated devices A and B. Identify A and B.

We often see in our nouse or in our neiphbourhood

some plants which have long but weak stem and
crawl on the ground. What are these plants known

_as? Give one example of such a plant.

Thelength of aline is 5 37 ¢m: Convert it into mm.
(k) Whatls common among the following:
beet root, radish, carrot, turnip
() Radhika added ice-cubestoa tumbler and observed
some water droplets on the outer surface of the glass.
Name the process which is responsible for the
.. formation of these water droplets.
(m) Name the following :
) acereal usedin making kheer
gf) ananimal productused fo make omlettes
(n) Carrots help in improving our eye sight. Give reason.
(0) Selectthe ingredients which are neither extracted
‘from plants nor from animals but are important
for making dishes :
spices, salt, oil, ghee, water
Fill in the blanks : (1x5=5)
(@) ~ A diet which contains all the nutrients in right
proportion 18 called a
Fibres made from chemical substances arc called
: :
(c) is done on looms.
(@) Too much of fat deposition in our body leads to a
: condition called
are the organisms which help to keep the

R
. enivironment clean by consuming dead bodies of
* animals,

(2)




Q3. Give one technical term for : (1x5=5)

-

Q4.

(a)
(b)
(c)
(d)

(e)

Small sized plants which have green and soft stem.
A thinner strand of thread used to make a fabric.
A device which either completes the circuit or breaks
it.
Circulation of water from the earth’s surface to the
atmosphere and then back to the earth.
Comparison of an unknown quantity with some
known quantity of the same kind.

PART-B

Answer briefly : (2x10=20)

(a)

(b)

(c)
(d)

(e)

)

(h)

Name the edible part of the following vegetables :
() - potato (i) cabbage

(iii) - chilli _ (iv) sweet potato

Why is it important to drink water even when it
does not give energy?

How are cotton fibres converted into cotton yarn?
Classify the following as conductors and insulators.
rubber, wood, copper wire, human body

The food factories of the plant perform two very

important functions. What are these food factories

known as? State their functions (any two).

Ria was measuring the length of the teacher's table

in her classroom with her handspan. Mohit advised

her to use a metre scale instead of handspan.

() Which value is shown:by Mohit? - - -~ "

() Why is handspan not considered a reliable
unit of measurement?

Cotton and jute are two important plant fibres. What

are they used for? :

X is caused due to heavy rainfall: Identify X and -

write its any two effects.

(3)



(1)

0)

Differentiate between herbivores and carnivores

giving examples. &

Given below is a figure showing measurement of a-

needle using a ruler. _

(i  What is the length of the needle?

(i) What precautions should be kept in mind while
using a metre scale? (any two)

Q5. Answer the following : (3x5=16)

(a) Food is the basic substance essential for our living.
State its importance for the lliving organisms.

(b) Name the type of motion shown by the following :
() astone thrown up in the air
() motion of a bee
{iif) hands of a clock
(lvy motion of a pendulum

W _bulle{ fired from a gun
(c) The diagrams given below represent two different

types of venation

() - Identify the type of venation shown in leaf A
and leaf B and give one example of each type.

(1) What is the type of root system present in
plant having leaf A and in the plant having
leaf B?

A farmer wants to obtaifi jute fibres from jute stem.

Explain the various steps he should take in order

(4)




to obtain jute fibres.
(¢) Define rain water harvesting. Explain two ways by

3 which you can conserve rain water.
@6. Draw neat and well-labelled diagrams of : (4+3+3)
() Parts of a flower
(i) Water Cycle
(i#f) - Inside View of a Torch
Q7. Answer the following questions : (5x2=10)
(a) (i] Identify and define the type of circuit given
below.
g
(i) Copy the diagram in your answer sheet and
mark the direction of flow of current in the
below circult.
(iil) © Write any two.uses of electricity. -
(b) Complete the table given below :
Vitamin/Mineral Deficiency disease/ | Symptoms
disorder
(f) Iron
(i) Loss of vision
(iii) bone and tooth decay
(iv) bleeding gums
{¥) Vitamin B,

(3)



SA-1 (CLASS-VI) 9/2016
i SUBJECT : MATHS
Time : 3 hrs . MM : 80
General Instructions :
i)  All questions are compulsory.
i) Read all questions very carefully.
iii) Questions 1 to 10 carry 1 mark each.
iv) Questions 11 to 18 carry 2 marks each.
v)  Questions 19 to 28 carry 3 marks each.
vi) Questions 29 to 34 carry 4 marks each.
Q1. Place the commas correctly and write the numeral for -
Fifty nine crore five lakh thirty two thousand seventy.
Q2. Write the first five multiples of 12. -

Q3. Which direction will you face if you start facing west and
make % of a revolution anti-clockwise?

@4. Write the Roman Numeral for 97.
Q5. Draw a circle and mark -

(a) aradius (b) a point in its interior
Q6. How many lines can be drawn passing through one given
point? '

2
Q7. Draw a number line and locate Zon it.

Q8. Write the smallest natural number.

37
@9. Express 5 asa mixed fraction.

Q10. What is the greatest prime number between 1 and 10?
Q11. Classify the following curves as open or closed

(@) (%) "

(1)



Ql12.
Q13.

@14,

Q15.

Q186.

Q17.

Q18.

Q19.
Q20.

Q21

Q29.

Using divisibility test. determine whether 60942 is divisible
by 6 or not. —

Find using distributive property : 4325 x 105

1 3
Zaheer brought 2 73 kg of apples. He ate 2 kg. How many

kg of apples are left? .
Draw a figure and label suitably in each of the following
cases -

(a) Point Q lies on xy.

(b) “Ap and ‘¢p ' IntersectatR.

Estimate the difference using general rule :

6781 - 1289

Name the types of following triangles -

(a) APQR with mZP = 40°, m£Q = 60° and m£R = 80°
b) AXYZwithXY=92cm,YZ=5cmand ZX=5cm
Arun sold 36 litres of milk on Saturday and 64 litres of

milk on Sunday. If the milk costs ¥ 21 per litre, find out . -

how much money is earned by Arun on both days.

g Wi
Sm‘tplify - g— E

Where will the hand of a clock stop if it :
(a) starts at 7 and turns through one right angle.

1
(b) starts at 3 and makes 5 of a revolution clockwise.

Use the figure to name :
(a) 4rays

(b) 2line segments

Find the H.C.F. of 91, 112 and 49. .

(2)



023.

Q24.

Q25.

Q26.

Q27.

Q28.

@29.

- @30.

Find the answer by suitable rearrangement :
(a) 777 + 13518 + 223
(b) 8x693x 125

6
Find the equivalent fraction of T_l- having :

(a) numerator 36 [b)  denominator 44

(¢) numerator 60

A student multiplied 2568 by 65 instead of multiplying
by 56. By how much was his answer greater than the
correct answer?

Express each of the following numbers as the sum of three
odd primes :

(@ 21 (b) B3
Name each polygon :
(2 : { [
(@) Draw two angles such that they have three points
in comimon.

(b) Write the successor of 1982899,

2

7
to reach home. How much total distance did she
cover to reach home?

(b) Mention one importance of walking.

Study the following diagram. The line p is perp'e’ndiéular

to line q. : )

3
(@) Mini travelled 1; km by bus and = km by walking




'931.

Q32.

Q33.

Q34.

(a) IsCF=FI? .
(b) Identify any two line segments for which FX s tne
perpendicular bisector.

(¢) Are these true?
. - ({i) 2BD> HI (i) AE<GI
Give a rough estimate (by rounding off to nearest hundreds)

and also a closer estimate (by rounding off to nearest
tens)

289 + 1877 + 612

Find the least number which when divided by 12, 16, 24
and 36 leaves a remainder 7 in each case.

(a) Fill in the blanks :
() 1thousand = tens
(i) 1 million = thousands
(b) Find the value of the following :
24598 x 159 - 24598 x 59
From the figure -
(@) Name three triangles :
(b) Write the names of any three angics.
() Which two triangles have ZQ as common?

P

(4)
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SA-1 (CLASS-VI) 8/2015
SUBJECT : ENGLISH

Time : 3 hrs MM : B0
General Instructions :

i)
ii)
iii)
iv)

QL.

Q2.

Read the questions carefully.
Number the answers as given in the question paper.
Write in a neat and clear handwriting.
Write the answers in complete sentences.

SECTION-A (READING)
Read the passage given below and answer the questions that follow : (7)
I entered the second class compartment and took a corner seat. A few minutes later.
a large, noisy family rushed in and spread themselves all over the compartmeni.
making me feel a bit uneasy.
The parents arranged and re-arranged their belongings on the luggage racks. They
tried to push the heavy suitcases under the seats and put the numerous trolley
bags, cartons and fruit baskets on the racks. They spent a lot of time in doing so and
while arranging the things a suitcase fell on the gruadmother's feet, making her
shout at them. The children quarrelled and the baby cried.

Suddenly, the whistle blew and with much clanging and groaning, the train moved
out of the station. It soon gathered speed and rushed on through the night.

My companions opened large tiffin-carriers and settled down to their meal. But the
baby's cries became howls and the grandmother hung a sari from the chain on the
side wall of the carriage to make a cradle. She put the baby in the cradle and the
baby stopped crying almost at once.

At the same time the train came to a stop. There was a great commotion. I looked
out of the window and found that a large crowd had gathered outside and everyone
was asking who had pulled the chain. Suddenly | saw that the grandmother had
hung the cradle on the alarm chain.

(a)  Although the narrator got a seat in the compartment, he felt uncasy. Why? (1

(b) Why did the grandmother shout? (1)

(¢) The parents had to waste a lot of time to arrange the luggage. Why? (1)

(d) How did grandmother make a cradle and why? (2)

() Why did the train stop? (1)

()  Find words from the passage which mean the same as given below : (2x%=1)
() anangry argument (i) noisy confusion

Read the poem given below and answer the questions that follow : (6)

A mother is an abode of love, care and leeling,
She soothes our disappointments and relieves us
from grieving

(A-1)



Q3.

Q4.

Q5.

Q6.

Q7.

Qs.

When at times our life troubles us,

She creates confidence and refreshes us.

Her angelic love can never be repaid,

We must serve her like an honest maid.

At times. we evaluate her a bit light,

In different roles and shapes she feeds us alike.
None can repay her debt till one has life.

She is pure gold who faces constant strife.

May she live long till the universe is there!

She is our precious asset with qualities rare.

(@ What are the two qualities of a mother? (2)
(b) What should be our duty towards our mother? (1)
(©) How does she help us during our troubled times? (1)
(d The poem conveys a beautiful message. What is it? (1)
(€ Find words from the poem which mean the opposite of the following : (2xYa=1)
()  hatred (i) impure
SECTION-B (WRITING)
You are Anamika, a resident of 46. New Modal Town, Delhi. Write a letter to your
friend living in America, describing your favourite Indian festival. (5)

You are Manish/Mohini, the Secretary of the Eco Club in Sachdeva Public School,
New Delhi. It has been decided by the club to celebrate the “Tree Plantation Week’ by
planting trees in the surrounding areas of the school during the rainy season. Draft
a notice in about 50 words for the monitors of different classes telling them to give

their ideas. - (5)
Read the hints given below and write a paragraph in about 80- 100 words. Also'give
a suitable title to your paragraph. (4)

Vacation - eagerly awaited - study - exercise regularly - relax - television tlimiteﬂ
_ reading newspaper - hobby classes — outdoor games - outing — enjoyed
SECTION-C (GRAMMAR)

Rearrange the given words to make meaningful sentences ! (2x1=2)
(a) the/book/lies/ shelf/my/cupboard/on/the / tolﬂmost Jof
(b) silence/maintain/library /we/should/in/the
Fill in the blanks with suitable collective nouns : (2x1=2)
(a) My father forgot the of keys in his car.
(b) My sister enjoys feeding the of chickens.
Rl in the blanks with the opposites of the abstract nouns given in the brackets:

: (2x1=2)
(@ The family was filled with when they came to know about their trip

¢ to America. (grief)

oS

(A-2)



Q9

Q10.

Ql11.

Ql2.

Q13.

Ql4.

Ql5.

(b) The of the rabbit saved the lives of many animals. (foolishness)
Fill in the blanks with the correct form of the verbs given in the brackets : (2x1=2)

(a) Monica that her friends would help her but she was disappoionted.
(hope)

(b) My father the house early in the morning every day to reach his
office on time. (leave)

Complete the sentences with the verb form of the given nouns : (2x1=2)

(a) The teacher encouraged the students to the paragraph on their
own. (writing)

(b)  Although the students could not well for the competition, they won
it. (preparation)

Insert suitable articles to complete the given sentences : (Bxle=4)

()  Last evening, (a) Prime Minister went to see (b) President
to discuss (c) important issue for (d) welfare of the country.

(i) (@____ moon was not visible in (b) sky, but we could see
(c) few stars and (d) bright Pole Star.

Fill in the suitable similes to complete the given sentences : (2x1=2)

(a) Cinderalla was wearing a beautiful gown that was as as snow.

(b) The new girl who came to the class yesterday looked as as a lamb.

Change the underlined nouns into plurals and rewrite the sentences :  (4x'2=2)

(a) The monument in the city is worth visiting.
(b) The woman in the church sang all the hymns melodiously.

Fill in the blanks with was, were, are, is : (4xVe=2)
() . There dense, dark clouds in the sky.
(i)  One of the passengers a qualified doctor.
(ii) The songs of this movie very sweetl. .
(iv)y The boy who is wearing blue pants ________ my cousin,
SECTION-D (LITERATURE)
Read the extracts given below and answer the questions that follow : | (3x1=3)

(A) “Away he set off to a miserly ant,
To see if, to keep him alive, he would grant
Him shelter. from rain;
A mouthful of grain”.
(a) Name the poem from which the above lines have been taken.
(b) Why did the cricket go to the ant?
(c) How did the ant respond to the cricket's request?

(B) “Jim drew a package from his overcoat pocket and threw it upon the table.
“Don’t make any mistake about me” he said. No hair cut will make me love you
less™. (3x1=3)

(A-3)



Q16.

Q17.

Q18.

Q19.

Q20.

Q21.

Q22.

(@) Who is the speaker and the listener in the above lines.

(b) What did the package contain?

(0 Why did the listener get a hair cut?
Answer the given questions in 30-40 words each : (2x2=4)
(a) What gift did Jim buy for Della and how?
(b) Cheemi was a poor orphan girl but was liked by one and all. Why?
Answer the given questions in 30-40 words each : (2x2=4)
()  The poet wishes to have more people like Abou Ben Adhem. Why?

(i) ‘The Ant and the Cricket’ is a lovely poem that conveys an important message.
What moral do we get from the poem?

Answer the given question in 80-100 words : (5)
“It is courage and humanity that counts, not the caste or position”. Explain with
reference to the lesson ‘Cheemi'.

OR
In the lesson ‘Home', Suraj thought that by running away from his house, he could
teach his parents a lesson. Did he succeed in his plan? Elaborate.

Answer the given question 30-40 words : (2)
How did Kalam earn money in his childhood?
Answer the given question in 70-80 words : (4)

Why did the new teacher ask Abdul Kalam to sit at the back of the class? Was it right
on his part? How was he reformed?

OR

In the lesson, ‘The Fishy Story’, the dusty old glass case that contained the trout
broke at the end. How did this happen?

Answer the following question in 30-40 words : (3)
Oliver had to face many difficulties soon after he was born. What made his early life

unhappy?
Answer the following question in 80-100 words : : (5)

Mr. Sowerberry was a local undertaker who took Oliver from the poor-house to work
for him. Describe Oliver's stay at Mr. Sowerberry’s house.

OR

Oliver receiw{ed the best of care and attention at Mr. Browhlow's house, How did he
reach there and what kind of treatment did he get there?

(A-4)
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az. ldentify the persons who said these famaous words: [1X2=2]
(i) *lam alittle pencil in the hand of a wriing God who is sending a love letler to the

World'

(i) ' The whole of science is nothing more than a refinement of everyday thinking *.

Q2. Identify the terms used in tennis : [1X3=3]
(i) The score of '40-all‘inagame

(il) A term for two successive failed service attempts

- (iii) Strategy to serve and rush (o the nel to scoreapoint

a3. Identify the places associated with the following industries and write the correct lefler in

the space provided. [0.5X6=3]

(i) Hosiery (a) Surat &

(i) Diamond (b)Firozabad

(iii) Automabiles (c)Dhanbad sl |

(iv) Coal (d)Maodinagar Pt

(V) Nylon thread (e)Gurgaon A

(vi) Glass works (fLudhiana S

aa.Name the cities in which the following airports are located : [1X3=3]

(i) John F Kennedy International Airport
(ii) Indira Gandhi International Airport
(iii) Heathrow Airport
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Q5. Fill in the blanks: | [1X4=4]
(i) The Russell's viper and the Indian Krait are the ! snakes.
(ii) South India is referred to as_ in our national anthem.

(ili) The twin city of Hyderabad is known &s
(iv) A drawing or painting person , especially of the face

CURRENT AFFAIRS : : - [1K5=5]

Q1 Name the sixth city in the country to have metro services; other cities are Delhi,
Gurgaon, Mumbai, Bangalore, and Kolkata. :

Q2. Name the documentary film on Test Cricket that was premiered at the Sheffield
International Documentary Festival on 8 June 2015

Q3. Which city is the hosL of 2022 Winter Olympic Games?

Q4. Name the authors of the boo_k'Transcendeh_ée: My Spiritual Experierices with
Pramukh Swamiji.

Q5. Name the former cricketgaptain of Indian teafﬂ, who was on 2 June 2015 re-appointed
as the Director of Indian cricket team for the Bangladesh tour.




